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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.

2. This question paper contains 2 parts. Both parts are
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3. Candidates have to answer ALL the questions in Part

A and ANY THREE questions in Part B.

4. CQuestions in Part A carry 10 marks each and
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PART A

| Define News. How do you distinguish between news

and information?

Or

What is news reporting?

9 What are the principles of clear writing?
Or

What is the inverted pyramid style of writing?

3.  What do you understand by fake news?
Or
Write short notes on any two :
(a) Paid news
(b) Broadsheet
(c) Objectivity

(d) Privacy
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PART B

4. Distinguish between hard and soft news. What are

the most preferred news determinants?

Or
What is the role and importance of news sources?

Describe various news sources.

5. Elaborate on the difference between writing for print

and electronic media.

Or
What do you understand by a news story? Discuss
the basic components of a news story?
6. Digital technologies have increased the participation
of citizens in creating informative content. Comment.

Or

What do you understand by paid news? How is the
problem of paid news posing a challenge to journalistic
ethics?

P.T.0.
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7. Write a news story for a newspaper on any one of
the following not exceeding 500 words.

(a) Pollution in Delhi NCR
(b) G-20 Summit in Delhi
Or

What are the ethical norms which a journalist must
follow to maintain the sanctity of the profession?

(500)
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PART A

1. (a) Write a short note on the portrayal of exile in the
novel The Last Man.

Or

(b) Write a short note on The Last Man as a novel
about alienation and isolation.

2. (a) “There is no difference between Time and any of
the three dimensions of Space except that our
consciousness moves along it.” How does this
quote contribute to our understanding of the novel’s

exploration of time as a dimension?

Or

(b) What are the main symbols used in The Time
Machine?

3. (a) Critically comment on Captain Beatty’s arguments
for banning and burning books in Fahrenheit 451.

Or

(b) Discuss how Clarisse McClellan poses a challenge

to the authoritarian regime.
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PART-B

(@) How is dystopia conveyed in the novel The Last
Man?.

Or

(b) Is The Last Man a sequel to Frankenstein?

Discuss the probable relation between the two

novels.

5. (a) In what ways has The Time Machine by H.G.
Wells influenced the science fiction genre and
discussions about time travel in literature, film,

and popular culture?
Or

(b) Explore how the portrayal of a dystopian
future offers a critique of scientific progress,
industrialization, and the moral implications of
technological advancement in The Time Machine
and discuss the enduring relevance of these themes

in today’s world.

P.T.O.
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6. (a) Bradbury’s Fahrenheit 431 warns e read
about the dehumanizing effects of technology e;

_ an

mass media. Do you agree? Discuss with instanc
es

from the text.

Or

(b) Fahrenheit 451 1s a novel which warns the —
about the effects of the decline of the liberal gyt
Do you agree? What is the value of liberal arts i,
society? Discuss with reference to the novel,

7. (a) How do authors build and describe dystopian worlds
in their narratives, and what effect does this have

on the reader’s engagement with the story?
Discuss with reference to any of the texts in this

syllabus.
Or

(b) Dystopian fiction frequently serves as a reflection
of contemporary societal fears and issues. Analyze
the social, political, and environmental themes
explored in dystopian literature and discuss their

relevance to our own world and time.

(300)
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1.

Write your Roll No. on the top immediately on receipt
of this question paper.

Attempt any FIVE questions.
All questions carry equal marks.
Use of stencil is allowed for drawing outline of maps.

Answers may be written either in English or in Hindi;
but the same medium should be used throughout the

paper.
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What to do you mean by development? Discuss the
changing concept of development,

m%mwm%?ﬁmﬁmﬁmm
T W |

Discuss various socio-economic indicators used for
measuring development.
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qrToTeh - Y Fehaer! W o=l &R |

Critically evaluate the model of development given by
Rostow.
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Discuss the role of European Union in inter-regional
development co-operation.'
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Discuss the concept of Human development and its
various indicators.

T R o sEuRen 3R e T Gedwl | ==
FE |

Highlight the major characteristics of under-

development and dependent development.

T - sk e fRem & W AR ) g
3iferg

Discuss the efficiency equity debate with suitable

examples.

JogFT IEECN D WA T -FAA A6 B A0 B |

Highlight major characteristics of global patterns of

development.
P.1T.0.
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9. Write short note on any TWO :
(i) Myrdal Theory
(ii) ASEAN
(iii) Distributive justice
e @ W e ¥ Ruvdl fore
(i) faser ferd
(i) onfar

(i) ferewree =

(700)
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.
2. Attempt any four questions in all.
3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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What are some of the literary and archaeologjey)
sources for understanding the history of Indrapragp,»

ey & TREW H TE & Y G el ok wf:
aqa w37

Evaluate the historical importance of the Ashokap

Inscriptions in studying the history of Delhi.

Relt @ ThEM & FAEH X FNE & e @ W
WET o AEAIHT B

Examine the development and changing cityscape of
Delhi between 10th to 14th centuries, with special

reference to any two of the following -
(a) Anangpur Fort,

(b) Dehli-i-Kunha’s Masjid-i-Jami,

(c) Siri,

(d) Ghiyaspur-Kilukhari,
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(e) Tughulgabad, and

(f) Firuzabad

ol ¥ 3 Rt @ 3 Ry wesf &, 108 ¥ 148 Tt
® A ReR D R ok Teed TEd uRgw @ waE
o

OR

Discuss the various factors responsible for the urban
development of the city of Siri.

A% TR P 1= Rem 9 v mer (iftv s Rl w© ==t
Edl

4. Critically evaluate the reasons and factors involved in
shifting courts and capitals of Sultanate Delhi.

Yoo foeell & @RI 3N THENal Y qga= A it
FRO R R T AR AeAFT D
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5.

What are some of the key features of py,,
Tomb architecture? ayun®

ﬂ%ﬁﬁ’fﬁ al@'aialaﬁaj@w%ﬁ[@ma?

How does the city of Shahjahanabad reflec the

Imperial vision of the Mughal rulers in the 7t
t

century? Discuss.
TR T 174 TR ¥ T AR D W ey
2 2 i 27 W= A

What were the political, social and cultural ‘changes’
in 18th century Delhi? Explain with suitable examples

Write a short note on any two of the following :
(a) Tilpat & Panipat

(b) Charbagh

(c) Mehrauli Iron Pillar

(d) Jafar Zattali

P ¥ A Bl @ it forn ford

(@) fooma SR T

(@) =
(71) WAk e WA
() R Sewt

(2500)
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.

2. Attempt Any Five questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindji;
but the same medium should be used throughout the

paper.
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a. wm—ﬁmmaﬁsﬁmﬁﬁﬁaﬁwwﬁaﬁq,—mﬁ
aﬁaﬂﬁwmﬂﬁé’rmwﬁm

1. Explain Kautilya’s view on Dharma. Do you agree
with his idea on the moral aspects of statecraft.

aﬁwaﬁﬁﬂ%g&aﬁwaﬁwaﬂﬁmwmw
w%%ﬁﬁ%@aﬁmaﬁ%ﬁw%mﬁ?

‘The concept of gender equality given by Tarabai
Shinde was way ahead of its time.” Critically evaluate

the statement.

‘Mﬁﬁmﬁﬁ%waﬁwaﬁm
3 wga @ M FAA H R edieh gl

‘Sense of unity, pride in the past and sense of mission

strengthened India’s national movement.’ Discuss

the notion of nationalism as viewed by Swami

Vivekananda.

‘Qﬁlﬂﬁw, Sﬁﬁfﬁ'ﬂé ﬁtwﬁmﬁwlq”
& TG a@aﬁaﬁﬂm@ﬁm’wﬁﬁ%ﬂﬂ?mé‘rﬂi
ER H g | aE il
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wo M

In what ways did the arrival of Mahatma Gandhi on
the national stage catalyse the freedom movement 0f
the lines of Swaraj? Explain with the help of suitable

examples.

Wﬁﬂﬂ'ﬂwmtﬁsﬂ%aﬂm%ﬁmm%wﬂ%
oo W e e @ R f? e S
TERET ¥ e Sl

Social Justice is given priority in the Preamble of the
Indian Constitution, Discuss the major contributions
of Dr. B R Ambedkar towards developing the notion

of social justice in India.
Waﬁaﬁﬁﬁaﬁwﬁwﬁlﬁwaﬁmﬁmﬁ
T 2 e 3 FERE e 3 R et Wy @t
XS R AR e B THE A W e

What are the major principles and objectives of
Savarkar’s idea of Hindutva?

w%%@a%ﬁw%mﬁaﬁaﬂtmw%‘?

Compare and contrast the views of Gandhi and
Vivekananda on nationalism. Illustrate your answer

with suitable examples.

e W M R RRwE & R @ ger Aihe R

X SRl 9T ITR @ SUgd IEETH ¥ WL il
P.T.O.
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8.

10.

Explain the main elements of integral humanism
propounded by Deen Dayal Upadhyaya and highlight
its contemporary relevance.

ﬁwwmmﬁmﬁaﬁmw%wﬁ
@ I MY SR Fhhl FAHTA WD T ehmar by

Describe the important features of ‘Dandniti’ as
propounded by Kautilya in the Arthashastra.

o T ¥ e TN R ‘MR o At Ravaat
W U T

Write short notes on Any Two of the following :

fFfoies 9 9 foeel @t w aftm ool forRee

(a) Gandhian concept of Village Republics
TW TR A WS FTURIM

(b) Tarabai Shinde’s critique of patriarchy
R fiie &t fagen @t s

(c) Antyodaya
Ficded
(d) Cultural Nationalism

AEFI TG

(2000)
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2. Attempt Any Five questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;

but the same medium should be used throughout the

paper.
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Critically analyse the Nationalist approach to the study
of nationalism in India.

A ¥ WA B Py agad ghemm
AT faTeiwor iR

Discuss the constitutional development during British
Raj.
fifcs v& & kw Wutw fFem ® ==t HRwm

Discuss the contribution of socio-religious movements

to India’s freedom struggle in 19™ century.

1991 98 A HRA & TWoFdr GUW | AR - e e
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4.

8.

Write an essay on the role of peasants and tribal

movements in the Indian national movement.

YR TG e ¥ A iR At @ e W
& Feu fomaw

Discuss the social base, programmes, and political

methods of Swadeshi and radical nationalists.

R D e R e
Toriferes ae w ==t 29w

Examine the goals, achievements and weakness of

the Non-cooperation movement. What was its impact
on the Indian national movement?

FEETART Ao & e, ITed SR TSR @ gy
FINTT| TR ARG T AT W T I T ?

Critically analyse the rise and growth of communalism
in colonial India leading to Partition.

Fafafis sRa ¥ s & sro avefiea & 9er sk
gfe & FAEATE fvewe Hif

Discuss the role and participation of women in
different phases of the national movement.

P.T.0,
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What were the different ways through which Gandhj
was able to mobilise the participation of masses ip

the national movement. Elaborate with examples.

o A @ forer B A o o A TR T e
ﬁmﬁnﬁﬁqmﬁﬁwé?mq@aw
|

Write short notes on Any Two of the following :

e 3 @ el @ AR R e

(a) Imperialist approach on Indian nationalism

el TGAR W A FiReT
(b) Role of Arya Samaj in India’s freedom movement
i @ A AT A IS

E

(c) Salt Satyagraha

Aqh qdille

(d) Anti-Caste Movement
Wiifer - e 3o
(2000)
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Instructions for Candidates

1.

Write your Roll No. on the top immediately on receipt
of this question paper.

Attempt all the questions.

State the meaning of learning. Explain classical and
operant conditioning theories in detail and their
practical implication. (18)

Define the different types of groups, and their stages
of development and discuss various factors which
contribute to group cohesion. (18)

P.T.O,
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3

(a) What are the strengths and limitationg of Traitg
theory of leadership? 9)

(b) Compare Ohio and Michigan state theories of
leadership. 9)

Aramark, a leader in professional services
headquartered in Philadelphia, has approximately
250,000 employees serving clients in twenty-two
countries. Aramark wanted to better motivate its
employees who clean airplanes for Delta and Southwest
Airlines. Employee turnover of the low-paid staff of
largely immigrant employees once exceeded 100
percent a year. Morale was low, and wallets and other
valuable items that passengers left on planes had a
tendency to disappear. To turn things around, Aramark
manager Roy Pelaez believed that he had to break
some rules to get employees to feel motivated.
“Managers are not supposed to get involved with the
personal problems of their employees, but I take the
opposite view,” he says. “Any problem that affects
the employee will eventually affect your account. If
you take care of the employees, they will take care
of you and your customer.” Besides the typical

“Employee of the Month” recognition programs, he
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brought In an English_language [eaCher to tutor

employees twice a week on their own time, added
Friday citizenship clagses to help employees become
U.S. citizens, and arranged for certified babysitters
subsidized by government programs to keep single
mothers showing up for work. He even created a
small computer lab with three used computers so that
employees could train each other in word processing
and spreadsheets. “All of these things are important,
because we want employees who really feel connected
to the company,” says Pelaez. Employees who had
perfect attendance over a six-month period or who
turned in a wallet or pocketbook filled with cash and
credit cards were rewarded with a day off with pay.
Workers in the “Top Crew of the Month” were
rewarded with movie passes, telephone calling cards,
or “burger bucks.” Turnover fell to 12 percent per
year- amazing for jobs that pay only minimum wage
to start. And crews started to recover large amounts
of money from the aeroplanes, returning to passengers
some 250 lost wallets with more than $50,000 in cash.
In five years, Pelaez’s efforts helped to increase
Aramark’s revenue in this area from $5 million to $14
million. Since 1998, programs such as these have

helped Aramark consistently rank as one of the top

P.T.O.
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- admircd companies in its industry in Fortune
three 1

s list of “America’s Most Admired

According t0 you which motivational theories are

nost suited tO the workers at Aramark?  (6)

you have been given the role of manager of

uld you motivate

(6)

) If
these employees, how woO

them?

are some possible barriers to the

(iii) What
s? What

effectiveness of your motivation idea

could you do to overcome them? (6)

5 Write Short notes on any three of the following :
(6x3)

(a) Types of Conflicts.

(b) Determinants of Personality.

.(c) Perceptual Process

(d) Johari Window

(e) Managerial Grid

(500)
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Explain the term investment and factors affecting (h,

lnvestment Decision Process.

Or

Explain the different types of investment avenyeg

available to an investor in the market. (18)

Stock exchanges play an important role in the
Indian Security Market. Discuss the statement

mentioning the role played by BSE and NSE in this

regard.

Or

Define the term book building. Differentiate
between Book Building issues and Fixed Price
issues. Also, explain the process of Book Building in

brief. (18)
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3. How does a Stop loss order place a cap on the losses

possible for an open trade position? Illustrate with an

example.

Or

Differentiate between the following :

(1) Limit order and market order

(ii) Stop loss order and stop loss market order.

(18)

4. Explain the term indirect investment. Differentiate
between open-ended and close-ended Mutual Funds.

Also, explain the advantage of investment in mutual

funds.
Or

What do you mean by the NAV (Net asset value) of
a mutual fund? How can it be calculated? Explain

with a suitable example. (18)

P.T.O,
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5 Write short note on any three :
(i) IPO
(i) ULIP
(ili) Active investment vs Passive investment
(iv) Risk return trade-off

(v) Internet Trading |
(6x3)

(500)
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt any two parts of each question.

3. Each part carries 7.5 marks.

1. (a) Find a quadratic equation having the root 2 and
the triple root 1.

(b) Without actual division, show that
P-1Lrt-1,rr-1

are divisible by r — 1.

P.T.0O,
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; tic divisi '
(¢) By Synthetic ¢ on, find the quotient qf
x¥ = 3%} 4 3x% — 3y 4 4

byx2—3x+2.

2. (a) Solve
X'~ 05 2~ 1§ =

given that one root is the triple of another

(b) Find all the rational roots of

1
Y -3y -2y +1=0

(c) If o and B are the roots of x2 — px + q = 0, finq

an equation whose roots are o’ and of?,

3. (a) Find the fourth roots of unity. Show that these

roots are inscribed in a circle of radius unity and

center at the origin O.

(b) Change the equation
8xf —4x3+4x2-2x + 1 =0

into another the co-efficient of whose highest term

will be unity.



2415 3

(¢) Find the equation whose roots are the roots of
XX+ Tx4+ 73 —8x2+x+1=0

with their signs changed.

4. (a) Solve
y? — 15y - 126 = 0

using Cardan’s method.

(b) Find the equation whose roots are the roots of
x> + 4x3 — x2 + 11 = 0, each diminished by 3.

(c) Solve
x* - 10x2-20x - 16 =0

by the method of Descartes.

5. (a)If o, p and y are the roots of the equation
xX}+px?+qx+r=0

then prove that Yo Xap = Za’f + 3oy,
whence Yo?p = 3r - pq.

(b) If a, B and y are the roots of the equation
2% Ix + gt 8 = D)

Then find the value of o + B2 + 7%

P.1:0.
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(c) Find an equation whose roots are square of th
e

roots of

P+ x3+2x2+x+1=9

6. (a)If o, P and y are the roots of the equation
X+ pxP+gxtr=0
then form an equation whose roots are

1 ] |
G==y ﬁ__s Y-_—_.
By Yo op

(b) Find the polynomial equation whose roots are the
translates of the roots of the equation

xf-x3-10x2+4x+24 =0

by 2.

(c) If a, P and y are the roots of the equation

xX}+pxt+gx+r=90

1
find the value of ZE;

(2000)
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]_‘ Instructions for Candidates

1.

Write your Roll No. on the top immediately on receipt
of this question paper.

This question paper has two parts, A and B. Both
parts are compulsory.

Answer any three questions from Part A and any
three questions from Part B.

PART A

Answer any three questions from this part.

Read the passage given below and answer the
questions that follow it : (5x2)

PT.0.



2442 2

Every moment of life is precious. Time is the essence
of life. It is the wealth given to us by Nature. Every
day, all of us get 24 hours; nothing less, nothing more.
Now, it is up to us how we use it. People who know
how to make the best use of every moment easily
open the doors of success in their lives and those
who misuse time get failures one after the other. There
is a saying that, “Spent time and spent words cannot
come back.” Everybody is tied by the limits of time;
even God respects the boundaries of time. Work wins
appreciation only when it is completed in a requisite
time frame. Beyond the time allotted, work loses all
its utility however good may have been its quality.
Just as the falling of rains after the crops have dried
up has no use; likewise, when the time is past the
deadline, the work loses its importance and value.
When iron is hot it can be cast into whichever shape
we want. Once it gets cold nothing can be made out
of it, however, much we may beat the same. In the

same way, a person who has learnt to wisely use his
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time and has understood how to cast himself according
to the need of the time has actually learnt the true
mantra of life. Shakespeare wrote in one of his plays,
“I wasted time, and now doth time waste me.” It is
true that a person who wastes even a little bit of time
loses wonderful opportunities that he could have
otherwise availed of by utilizing that time. All the
great leaders have one thing in common. They wisely
utilize every moment of their time. When other people
are busy in wasting time in laziness, great men are
busy in making plans for the future. There is no person

in history who wasted his time and still managed to

achieve greatness.

(a) What is the essence of life?

(b) What kind of work loses its utility?

(c) What is needed for careful time management?
(d) What kind of people open the doors of success in

their life?

P.T.O.
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(e) When does the work lose its importance ang

value?

2. Fill a suitable word (article / preposition) in each blank

to complete the passage given below : (10x1)

At Cambridge University there was _(a) _conference
consisting of some of (b}  most celebrated
biologists in __(c) _ world. Most of __(d) _ speakers
had achieved success in their chosen field after
many years of difficult research. However, one
of __(e) most famous reéearchers, Jane Wills, had
received worldwide acclaim from __(f)  early age.
Emma Helme, _(g)  chemist who has written _(h) lot
about biology, was also there. These scientists
told _ (i) _ audience of their struggles. _ (j) most
interesting aspect was how data communication via
the internet had changed the way they did their

research.
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3. Write a dialogue (five turns each) between two friends
who are talking about climate change and its impact
on life. (10)

4. Write a paragraph of 100-150 words on sports
activities in your college. (10)

5. Match the best match of the spoken expressions
given in Column A with the participants given in
Column B. (5%2)

(a) | You have a moderate fever. Let me check your | Salesman, to customer
temperature.

(b) |1 am sorry sir, [ was in debt and had to do it.  swear | One warrior, to another
I will not repeat it again. warrior

(c) |Excuse me, could you please tell me when the train | Thief, to a paliceman
is scheduled to reach Delhi?

(d) |Please do not kill me. I have a family to support, Doctor, to a patient
just like you.

(¢) | Sir, how may I help you? May I know what you are One passenger, to another

looking for? passenger

B.T.0.
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PART - B

Answer any three questions from this par.

6. Read the passage given below and answer the

questions that follow it:

The pile of bad loans of Indian banks is a huge drag
on the economy. It is a drain on the profits of banks,
Because profits are eroded, public sector banks
(PSBs), where the bulk of the bad loans reside, cannot
raise enough capital to fund credit growth. Lack of
credit growth, in turn, comes in the way of the
economy’s return to an 8 per cent growth trajectory.
Clearly, the bad loan problem requires effective
resolution. Once an asset is recognised as a
nonperforming asset (NPA), banks must decide whlat
to do with it. They have several options. One, they
can try to seize the assets pledged by the borrower
and sell these. This typically involves large losses on

loans as the assets have to be sold at steep discounts
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to their book value. Two, under the RBI’s Strategic
Debt Restructuring (SDR) scheme, they can convert
their loans into equity, acquire a majority stake in the
firm, dislodge the promoters or management and bring
in new promoters and management. While this happens
in advanced economies all the time, the SDR scheme
has not taken off in India. Indian banks do not have
experience in running businesses till such time as new
promoters are found. Nor do they have experience in
locating promoters and management who can take over
the stressed assets. The third option is that banks can
restructure the loans so that borrowers are able to
service them. This involves stretching out the period
of payment, or waiving a portion of the loéms, or
reducing the interest rate on loans, or some
combination of these. In any restructuring, banks incur
losses on the loans they have made. At PSBs,
managers are open to the charge that they have
favoured borrowers in a restructuring scheme and can

invite action from the investigative agencies

P.IT.O.
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(a) State whether the following Statementg are ¢
I'ue

or false: (le)
: ile of bad loans of Ind;
(i) The pile o Ot Indian bany ;4 ,

big problem.
(i) No action is needed regarding p,q loans,

(iii) Banks have multiple options to ey with

Nonperforming assets.

(iv) Indian banks do not have experience iy
running businesses till such time a5 new

promoters are found.

(v) Strategic Debt Restructuring (SDR) scheme

has been very successful in India.

(b) Answer the following questions using your own

words as far as possible (5%3)

(i) Under which scheme do borrowers get

more time to repay loans?
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(i) What is RBI’s Strategic Debt Restructuring
(SDR)?

(i) List the options suggested in this passage

for recovering bad loans.
(iv) What are Non-Performing Assets?
(v) What is the impact of bad loans on the

economy?

7. Complete the sentences given below with the opposites

of the following words. (10%x2)

castle, easy, happy, old, on, possible, short, small, stale,

useful

(a) This knife 1§ ————
(b) Is the food 7
(¢) Turn —__ the radio.

(d) The poor couple lived in a

P.T.O.
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(¢) 1 was ———— Wwith my result,

() __ people have a lot of energy buf litg
e

experience.

(g) It is a very novel.

(h) The designs on this fabric are _____ ¢, copy.
(i) The speed of the water makes rowing _
G) A _ crowd had gathered in the town

square.

8. Rewrite the sentences below by putting the verbs given

in brackets into their correct forms. (10x2)

(a) I would have read the letter if I (know) it was

from you.

(b) If you do not help in the garden, I (not finish) my

work in time.
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(c) If you (not tell) me about Mira’s birthday, [ would

have forgotten it.

(d) We (catch) the earlier train if Meena had not

mislaid her purse.

(e) If Sunil (learn) the poem, he would have known

the answer.

(f) If it (be) too hot, we will stop and get a cold

drink.
(g) If it (not rain) today, we will go for a picnic.

(h) If the Professor spoke clearly, we (understand)

him better.

(i) If you go on talking like that, we (throw) you out.
() If you (go) home now, you will be able to meet

the guests.

9. Write a paragraph of about 150 words on the success

(20)

of Chandrayaan 3.

P.T.O.
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10. Write a dialogue fat least ten turns each| betwee
= _tdch! na

football captain and the team Coach making a strat
cgy

for the next match.
(20)

(1000)

—
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Passage 1

We are on the threshold of a new century, a new
nﬁllennium. What will the legacy of this vanishing
century be? How will it be remembered in the new
millennium? Surely it will be judged, and judged
severely, in both moral and metaphysical terms. These
failures have cast a dark shadow over humanity: two
World Wars, countiess civil wars, the senseless chain
of assassinations (Gandhi, the Kennedys, Martin
Luther King, Sadat, Rabin), bloodbaths in Cambodia .
and Algeria, India and Pakistan, Ireland and Rwanda,
Eritrea and Ethiopia, Sarajevo and Kosovo; the
inhuménity in the gulag and the tragedy of Hiroshima.
And, on a different level, of course, Auschwitz and

Treblinka. So much violence; so much indifference.

What is indifference? Etymologically, the word means
“no difference.” A strange and unnatural state in which
the lines blur between light and darkness, dusk and

dawn, crime and punishment, cruelty and compassion,
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good and evil. What are its courses and inescapable
consequences? Is it a philosophy? Is there a philosophy
of indifference conceivable? Can one possibly view
indifference as a virtue? Is it necessary at times to
practice it simply to keep one’s sanity, live normally,
enjoy a fine meal and a glass of wine, as the world

around us experiences harrowing upheavals?

Of course, indifference can be tempting - more than
that, seductive. It is so much easier to look away
from victims. It is so much easier to avoid such rude
interruptions to our work, our dreams, our hopes. It
is, after all, awkward, troublesome, to be involved in
another person’s pain and despair. Yet, for the person
who is indifferent, his or her neighbors are of no
consequence. And, therefore, their lives ar.e
meaningless. Their hidden or even visible anguish is
of no interest. Indifference reduces the Other to an

abstraction.

Over there, behind the black gates of Auschwitz, the

most tragic of all prisoners were the “Muselmanner,”

P.T.C.
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as they were called. Wrapped in their 1o, blankeq,
they would sit or lie on the ground, Staring vacantl

into space, unaware of who or where they were
strangers to their surroundings. They p, longer Sk
pain, hunger, thirst. They feared nothing, They feyq
nothing. Rooted in our tradition, some of us felt that
to be abandoned by humanity then Was.not the
ultimate. We felt that to be abandoned by Gog was
worse than to be punished by Him. Better a unjust
God than an indifferent one. For us to be ignored by
God was a harsher_ puni’shment than to be a victim of
His anger. Man can live far from God - not outside

God. God is wherever we are. Even in suffering?

Even in suffering.

In a way, to be indifferent to that suffering is what

makes the human being inhuman.

Indifference, after all, is more dangerous than anger
and hatred. Anger can at times be creative. One Writes

a great poem, a great symphony. One does something
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special for the sake of humanity because one is angry
at the injustice that one witnesses. But indifference is
ICVer creative. Even hatred at times may elicit a
response. You fight it. You denounce it. You disarm
it. Indifference elicits no response. Indifference is
not a response. Indifference is not a beginning; it is
an. end. An_d,' therefore, indifference is always the
friend of the enemy, for it benefits the aggressor -
never his victim, whose pain is magnified when he or
she feels forgotten. The political Ijrisoner in his cell,
the hungry children, the homeless refugees - not to
respond to their plight, not to relieve their solitude by
offering them a spark of hope is to exile them from
human memory. And in denying their humanity, we

betray our own.
Indifference, then, is not only a sin, it is a punishment.

And this is one of the most important lessons of this
outgoing century’s wide-ranging experiments in good

and evil.

(644 words)

P.T.O.
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_ Passage 2

Rest brings strength,
Strength brings unity,
Unity wins freedom,

Freedom brings rest.

When we forget the few,
Then the many are not whole.
For there is a hole deep within,

_Aching for intervening relief.

We feel the pain of our fellow,
For we too have felt pain.
Though each of its own cause,

It still aches the same.

We can salvage the remains,

Bring peace by breaking these chains,
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Used by the evil to keep reins,

Attempting to rid liberty’s good name.

To peace for one and all,

Unity, liberty, for eternity.

Passage 3

[Scene: It is a big room, and rather untidy. The

villagers stand talking.]
[Enter Am;ﬂ and Gaffer.]

AMAL: (Panting.) How the flowers bloom on the

bushes!

GAFFER: (At a loss.) I am old; my eyes are not so

good. I do not see the flowers.
AMAL: (Eaéerly.) They are like the flags of a King.

GAFFER: (Approving.) That’s right. But where do
you see them? '

P.T.Q.
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AMAL: (After a pause.) I don’t see them now. |
. see

nothing. (He begins to weep.)

GAFFER: (Puzzled.) What is it, my dear9 What ig ¢
¢

matter?

AMAL: (Between his sobs.) I want to seg tp, King’s

flag. I have never seen a flag.
GAFFER: (Touched.) What does the flag ook like?

AMAL: (Mournfully.) I don’t know. (Gaffer gazes at

him in amazement.)

GAFFER: (Kindly.) Poor little soul! Why do you want

to see the flag?

AMAL: (After a pause.) I want to die. But I have
heard that when one is dead, they put a flag on the

body; I have never seen a flag.

GAFFER: (Soothingly.) You should not speak of dying.

- But don’t cry. It is wrong to cry.
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[Amal is quiet.]

[Amal falls asleep, his head in Gaffer’s lap.]

[The Postman enters.]

POSTMAN: Well, my friend, what about your house?
GAFFER: All gone to p_iec-es.

POSTMAN: And the boy?

GAFFER: He is stili crying.

POSTMAN: Poor child, he was in love wiih the house.
You should have brought him here last night. That

would have distracted his mind.

GAFFER: I have brought him now. When the doors
of the house were tom down, I carried him out in my

arms. But his eyes were all wet with tears.

POSTMAN: It was not wise to weep over one’s own

house.

L0,
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GAFFER: Wise or unwise, he is a child; po does
Not

understand these things.

POSTMAN: Well, do not weep. If one doeg ot we
cep
in this world, there is nothing to weep for i the nexg
(Enter the Poet, who looks about the room.) It seep,
3

that our house will be rebuilt.
POET: When will the boy recover?

GAFFER: I do not know. He has cried his eyes out

but still the tears flow from them.

POET: (After a pause.) Has he not eaten anything al]
day?

GAFFER: No.
POET: (Impatiently.) Why do you not feed him?

GAFFER: If he does not eat, he will die. When he
has wept, he will take food of his own accord. But if

I feed him while he is crying, he will die.
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POSTMAN: (Smiling.) Your love for the child is too

great.

GAFFER: When 1 see his tears, I can hardly breathe.
How can I endure them? (Enter the Dairyman,

Sweetseller, and Fisherman.)
DAIRY.MAN: Well, Mr. Postman, how is your health?
POSTMAN: Thank God; I am well.

- DAIRYMAN: You always seem .happy.,

POSTMAN: It is a satisfaction to know that one has

always done one’s duty.

DAIRYMAN: (Smiling.) You know very well what

you have to do.
(Enter the Priest.)
PRIEST: You are always busy.

POSTMAN: What is your opinion?

P.T.O.
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PRIEST: Why should a priest be busyy 1y Lord ;
Is
sufficient for his needs. (Enter ¢, Docto;

)
POSTMAN: Well, how are you, Doctqr9

DOCTOR: I am very well. (Pause.) How ig the chilqy
(Gaffer does not answer.) What is tpe Matter)
POSTMAN: (Leaning on the Doctor’s shouldef.) The

poor child’s house has been tom down.

DOCTOR: (Impatiently.) And why has the chilg not
eaten anything all day?

GAFFER: If I feed him while he is crying, he wi]] die.

DOCTOR: (Smiling.) But, my dear sir, it is not right
for a child to fast in this way. (To Amal.) Come
along, my dear. Here are some sweetmeats. (Amal

sits up.)

AMAL: I don’t want them.

DOCTOR: (Laughing.) Why, what is the matter?
AMAL: I don’t want them.

(633 words)
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PART A
4nswer any three of the following:  (10x3=30)
Questions 1 and 2 are based on Passage 1.
Questions 3 and 4 are based on Passage 2.

Question 5 is based on Passage 3. -

1. In Passage 1, how does the author define indifference,
and what implications does it have on human perception
and action? What examples does the author provide
to illustrate the consequences of indifference in

society?

2. In Passage 1, explain why the author talks about .
various events and tragedies. What kind of emotional
response is evoked by the use of personal and

historical examples?

3. In Passage 2, what is the central message of the
poem? What does the author suggest about the

relationship between rest, strength and freedom?

P.T.O.



2445 14

4.

In Passage 2, what literary devices does the iy

employ to convey their ideas effectivelys Discuss hr
t

significance of the repeated use of Certain rds

phrases throughout the poem.

In the given excerpt from Rabindranath Tagore’g play
‘The Post Office,” a poignant scene unfolds j, whick
Amal, a young boy, is distraught over the loss of hig
house and his deep longing to see the King’s flag
Discuss his desire and how the other Characters, sycp
as Gaffer, the Postman and the Doctor, respond to

Amal’s grief and why they offer him Sweetmeats,

PART B
Answer any three of the_following: (20x3=60)
Questions 6 and 7 are based on Passage 1.
Question 8 is based on Passage 2.

Questions 9 and 10 are based on Passage 3.

Imagine two characters, A and B, are discussing the

concept of indifference as portrayed in passage L.
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Write a dialogue of at least 10 exchanges between
them where they explore their contrasting perspectives
on the implications of indifference in the context of

historical events and its impact on society.

From Passage 2, create a set of concise and organized
notes summarizing the key points made by the author
in the passage about the consequences and nature of
indifference. Include the author’s definition of
indifference, examples illustrating its impact, and the
author’s viewpoint on its role in shaping human

behavior.
Paraphrase the poem given in Passage 2.

Imagine you are the Postman in Passage 3, and you
are deeply moved by the situation faced by Amal and
Gaffer after their house was destroyed. Write a letter
to a close friend, expfessing your thoughts and
emotions about the incident and the impact it has had
on the community. Describe the efforts being made

to help Amal recover and rebuild the community.

P.T.O.
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10. Imagine you are Amal in Passage 3, the child in the
excerpt. Write a diary entry describing the events
and conversation that took place in the room today.

Include your feelings, thoughts, and reactions to the

people and their discussions.

(5500)
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(a) What is a dictionary in python? Explain using an

example. (3)
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(b) Give output of the following code -

(i) n=[1,2,3,4,5,6,7,8,9,10]
r=10
for i in range(0, 10):
if (n[i]%2 == 0):
r += c[i]

print(r)

(ii) gv =10 3)
-def func():
lv=20
gv =30
print(gv)
print(lv)
func()

print(gv)

(c) Write a function in python to find the sum and
maximum of three integers. (2)

(d) Explain the following functions of files in
python : (6)
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(1) f.seek()
(1) f.tell()
(i11) f.readline()

(e) Differentiate between : (6)
(i) startswith() and endswith()
(if) break and continue

(i) Radiobutton and Checkbutton

(f) Evaluate the following expressions : 4)
(1) abs(-5.4)
(ii) math.floor(25.7)
(iii) x=2+9*((3*12)-8)/10
(iv) 5% 10+10-25 * 8//5
(g) What is the use of a layout manager in Tkinter?

Briefly discuss the ‘grid’ layout manager and the

purpose of ‘row’ and ‘column’ parameters.

(4)

Section B

9 Consider the code segment given below for a student

form :

P.T.0,
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import tkinter as tk

root = tk.Tk()

#Name of the Student
name var = tk. StringVar(root)

name_inp = tk.Entry(root, tcxtvariabl(z;;-name vai)

#Roll Number of the Student
rollno_var = tk.IntVar(root)

rollno_var = tk.Entry(root, textvariable=ro]jy, var)

(a) Identify all the Tkinter Control Variab]es in the
code above. Write python code for adding a ‘Saye’
button. )

(b) Write a callback function ‘on_save’ for the ‘Save’
button which does the following :

(i) Collect ‘name’ and ‘rollno’ from the form
using ‘get’ and store it in a Python
dictionary object. (%)

(i) Using the CSV DictWriter class, write the
students record (‘Name’, ‘Roll No’)
collected in a dictionary object to file
‘students.csv’. Create a new file if the file
doesn’t exist. Also write a header in the

‘students.csv’ file using the dictionary keys.

()
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3, (a) Consider the code segment given below :

import tkinter as tk
window = tk.Tk()
myform = tk.Frame(window)

myform.grid()

tk.Label(myform, text="Welcome").pack()
tk.Entry(myform, text="Enter some Text").pack()

window.mainloop()

(i) What is the widget hierarchy? Identify the
different widgets and their child widgets in
the code above. (5)

(i) Draw the graphical user interface created
by the program. Sizes of widgets doesn’t
need to be precise but ensure that the
positioning of widgets relative to one

another is correct. (5)

(b) Choose the best option : | (5)
(i) def f1():
x=15
print(x)
x=12
f1()

P.1.0.
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(a) Error
(b) 12
(c) 15
(d) 1512

(i) x = [i for i in range(3)]
for i in X:

print(i)

(a) 012
(b) Error
(el 2812

(d) None of the mentioned

(iii) math.ceil(54.6)
(a) 54
(b) Error
{e) 55
(d) 54.5
(iv) 5 % 10+ 10 <50 and 29 >=29

(a) True

(b) False
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(¢) Error

(d) None of the above.

V) T=0
count = 20
while count > 5:

T += count

~

count -= 1

print(T)
(a) Error
(b) 190
(c) 195
(d) 196
4. (a) Write an assignment statement using a single

conditional expression for the following if - else
code : ()

if marks >=70:
remarks = ‘good’

else:

remarks = ‘Average’

P.T.O.
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(b) What is the difference between , Mutap|

€ daty
type and an Immutable data type? Explain Biving
an example of each type. 5)

(¢c) Write a python program to print the following
pattern : (5)

5. (a) Consider the following code segment: (5)
Msg = “Happy New Year 2024 11”

Determine the output or indicate error on executing
the following statements :

(i) print(match.lower())
(ii) print(match[::2])

(iii) print(match[-4:-11])
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(iv) print(match.index(‘n’))
(v) print(match.partition(‘/’))
(b) Differentiate between the following : (5)

(i) append() and extend()
(i) x=10 and x==10.

(c) Write a python function to return the sum of the

digits of a number, passed to it as an argument.

()

6. (a) Consider the following function : (5)
def nfunc( a = 0, num = 1):

return a * num

Give the output produced for each of the following

function calls :
(i) nfunc(5)
(ii) nfunc(5, 6)
(iii) nfimc(num = 7)
(iv) nfimc(num = 6, a = 5)

(v) nfunc(5, num = 6)

P.T.0.
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(b) Identify the error, if any, in the foll,
Win

Code

(5

segments :

(1) #SET
grade= (“A+” “A”, “pAm
grade 1 = grade + {1}
print(gradel)

print(grade[2:])

(i) #FUNCTION
def example(a):
=a% 1
a.= g%l
return a

example("hello")

(i) #TUPLE
t=([40,50], "Ram", [40,30])
t[0]{1]= "Ram"

print(t)
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(iv) for a in range(7, 20):
if (a = 6):
print(‘EXITING”)

Continue

print(a)

(v) print(‘%3d’, % 12345)

(c) Write short note on : (5)

(i) map and reduce operations

(i) islower, lower, istitle functions of strings

7. (a) Write a python program to performs the following
operations : (5)

(i) Create a file ‘Filel.txt’” and write the
following text in it :
Python is a popular language

(i) Read ‘filel.txt” and copy the contents of
the file to output file ‘file2.txt’.

(b) Consider the file ‘vowgls.txt’ having following
line : )

aeiouAEIOU

P.T.O.
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The file is opened in ‘r+’> mode and the operations
below are performed sequentially. What wi]] be

the output after each operation?
(i) f.write(‘12345?)
(i) f.read()
(iii) f.seek(0)
(iv) f.read(5)

(v) f.read()

(c) What are the following functions used for :

(i) eval function

(i) append in lists
(iii) reverse in lists
(iv) isalpha in strings

(v) encode in strings

&)

(1000)
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Instructions for Candidates

I. Write your Roll No. on the top immediately on receipt

of this question paper.

2. This question paper contains Two parts. Both parts

are compulsory.

3. Candidates have to answer ALL the questions in Part

A and ANY THR_EIE questions in Part B.

4. Questions in Part A éarry 10 marks each and

questions in Part B carry 20 marks each.
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Part A

(2) What does Winston’s diary symbolize ip the Nove|
Nineteen Eighty-Four?

Or

(b) Wh‘at. does Winston mean when he erltes
«Freedom4s the freedom to say that twq plus two
make four. If that is granted, all else fOHOWs”?

(a) Why does Atticus feel he should take the case of
Tom Robinson? '

Or

(b) Why do you think the Iine spoken by Atticus, “yoy
never really understand a person until you consider
things from his point of view...until you climb into
his skin and walk around in it” forms the crux of

the novel?

3. Explain these lines with refer:ence to the context:

(a) But a caged bird stands on the grave of dreams
his shadow shouts on a nightmare scream
his wings are clipped and his feet are tied

s0 he opens his throat to sing.
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Or
| (b) I’'m watching the rat, it’s losing itself, its shape,
eating the sky, and I'm waiting.

Waltmg for h1m to come back.

' Waltlng

I’m waiting to come back home
Part B

4. (a) How do you think t}ié novel Nineteen Eighty-Four
raises the quebuon of personal freedom in the age
of surveillance?

(b) The apparatuses a'nd" t'a'i:ti.cs,that helped the party
‘to - maintain its p’qlw‘le_:_r over people. Critically
‘comment with reference to the text.

5. (a) How does the novel To Kill a Mockingbird

hlghhght the power of empathy? Illustrate with

examples fljlom the " text. .

P.T.O.
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(b) How does the novel To Kill a Mockingbird
promulgate the ‘ideas of peace and human rights?

Discuss.

(a) Education “isn’t only a right, but that it in fact
saves the life source of a society and its people”.
Analyse the story “ABC Antidote” in the light of

this statement.
Or

(b) The poem “Poem About My Rights” is a
commentary upon raciai and gender oppression.

Discuss.

7. (a) Describe in detail the I‘Cl&thIlSh]p of human rights
with literature. How do they stir-up each other?
Explain with examples from the texts 'you have

read.
Or

(b) How can education be a powerful tool to propagate
as well as to fight against oppression and injustice?
Illustrate with examples from the texts.

(1000)
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Hifo (15)
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Mammoths were very important for lots of other
plants and animals. When the mammoths were
around, the weather was colder in arctic regions
of the far north but these places still had many
more plants and animals than they do today. Why
was that? Well it was thanks to the mammoths. In
winter, when everything was covered with snow
and ice, mammoths acted like snowplows. They
used their enormous strength and huge tusks to
plow through the snow and uncover grass trapped
underneath.

Jqdar

The girl was given the name Santosh, which means
contentment. But Santosh was not always content
with her place in a traditional way of life. She
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3

began living life on her own terms from the start.
Where other girls wore traditional Indian dresses
Santosh preferred shorts. Looking back, she says
now, "from the very beginning I was quite
determined that if 1 chose a correct and rational
path, the others around me had to change, not

me.

(ﬁ)ﬁﬂﬁ%ﬁ?ﬁwaﬁ@?ﬁaﬁiﬁﬁaﬁa

AR | (15)
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8. (%) sl =@ (10) v & R wfoew ffeg-  (10)

Cash Sheet, Debtors, Accountant, Earning,
Finance, Rectification, Output, Sinking Fund,
Transaction, Stagnation, Cost, Agreement
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What do Xou understand by the concept of Swaraj? R

Explain its rePevance in Gandhi’ s phllosophy
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Explain the concept of Ideal life 'in _Vivekanand’s? .

philosophy.
P & i ¥ e S R e R

Analyse the critique of gendér relations in Tarabal

Shinde’s work.

mﬁﬁ%%m%ﬁawﬁa@wmﬁsﬁw
o

Analyse critique of caste d1scr1m1nat1on and
untouchability by Ambedkar.
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WhV s Sava1ka1 known as a proponent of Hindu
Nauonallsm?
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What do you uhderstaud by ‘Integral Humanism’?

Explain in'-.light of Deen 'Dayél' Upadhayay’s views.
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Explain S.aptang theory by _Kautilya. What is the

. significance of ‘state powér‘ here?
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Compare zlnd contrast Ambedkar’s and Savarkar’s

perspectwes on the Indian caete system.
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9. Explain the critique of westernisation in vivekananda’s |

writings. - - . |
R & A 3 A A e A
L al
10. Writp short notes én'Aﬁy Two of the following ;
e 3 3 fadl @ o e e
(a) Hinduéva | |
fege
s (0 Danda
L)
(¢) Mandal Theory e
e R
(d) Self-rule

-
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Sr. No. of Question Paper : 2234 G

Unique Paper Code . 2164002003

Name of the Paper . Plant Biotechnology

Name of the Course - Common Prog. Group :
G.E.

Semester 11

Duration : 2 Hours Maximum Marks : 80

Instructions for Candidates

1.

Write your Roll No. on the top immediately on receipt
of this question paper.

Attempt any five questions in total.
Question No. 1 is COMPULSORY.

Attempt all parts of the question together.

(a) Expand following abbreviations (any five) :
(1x5=5)

(i) PAGE
(i) EPSPS
(iii) MCS
(iv) GFP
P.T.O.
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(v) CaMV 35S
(vi) PEG

(b) Define any five of the following : (1x5=5)
(i) Superbug
(i) Totipotency
(iii) Plantibodies

(iv) Androgenesis

(v) T-DNA
(vi) BAP

(c) Fill in any five of the blanks : (5x1=5)
(1) genes are used for growth

and identification of transgenics growing
in regeneration medium.

(ii) Crown gall disease in plants is caused by

(iii) gene was silenced in Flavr

Savr® using genetic engineering.

(iv) Haploid plants can be produced by
culture,

(v) Plants tissues are encapsulated in
to form artificial seeds.
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(M)
(ii)
(iii)
(iv)

(1)
(i)
(iif)
(iv)
(v)

4. ()

(i)

(vi) genes of Ti plasmid are
responsible for T-DNA transfer into plants.

Differentiate between the following (any three)

(5x3=15)
Marker and reporter genes

Direct and indirect somatic embryogenesis
Pluripotency and totipotency

Direct and indirect gene transfer

Write short notes on (any three) : (5%3=15)

Applications of tissue culture
Vir genes

Production of cybrids

Round Up Ready soyabean

Gene gun

Give a detailed account of the development
and mode of action of Bt cotton. What are its
advantages? (8)

Explain the role of phytohormones in tissue
culture. (7)

P.T.O.
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5 (1)
(i1)
6. (@)
(11)
7. ()

4

How was synthetic form of insulin developed in
labs? What are its advantages? (7)

Explain the process of embryo culture with
the help of suitable diagrams. Mention the
applications of the technique. (8)

How was Flavr Savr developed? How does it
increase the shelf life of the crop? Explain the
advantages and limitations of the transgenic.

8)

Give a brief account of biosafety and ethical
concerns associated with development and

release of transgenic crops. (7)

Explain the procedure of Agrobacterium-
mediated transformation. Enumerate its
advantages and limitations. (8)

(i) Explain the role of transgenics in bioremediation.

(7

(1000)
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Sr. No. of Question Paper

Name of the Course - B.Sc. Hons (GE): NEP
Semester .mf L

Name of the Paper : Introduction to Electronics
Unique Paper Code : 2224002001

Duration ; 2 Hours
Instructions for the candidates

Maximum Marks : 60

. Write your Roll No. on the top immediately on receipt of this question paper.

2, Attempt four questions in all.

3, Q1 is compulsory.
4. All questions carry equal marks,
5 Use of Non-Scientific calculator is allowed.

Ql (8

examples of each.
(b) What is the principle of the working of Photodiodes?
(c) Convert (26.50)10 into equivalent Binary number.

(d) What is the significance of CMRR in op-amp?
(e) Determine vofor the network given be

signal.

Differentiate between active and passive electronic components. Give

low wheré v; is the applied input

Q.2 (a) Whatare Clampers?
(b) Draw the RC integrator circuit and find out the expres

Voltage.
(¢) Draw and explain the circuit of a half Wave rectifier.

sion for the output

€

€);
€)
(3)
©)

€)
()

)
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Sr. No. of Question Paper : 2499 G

Unique Paper Code 2344002001

Name of the Paper . Database Management System

Name of the Course . Computer Science: Generic
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Duration : 3 Hours Maximum Marks : 90

Instructions for Candidates

L.

Write your Roll No. on the top immediately on receipt
of this question paper.

The paper has two sections. Section A is compulsory.
Attempt any four questions from Section B.

Parts of a question must be answered together.

SECTION A

(a) What is the degree and cardinality of the following

relation : (2)

P.T.0.
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FabricID  |Fname I

Type pisc
FO01 Shirt Woolen 10
F002 Suit Cotton 20
F003 Tunic Cotton 10

(b) Differentiate between the intension and extensiop
of the database. (2)

(c) Are the tuples ordered within a relation? Justify
your answer. (2)

(d) Consider the relation state :

3)

P Q R |8
P1 |{Ql |50 |s1
P2 |02 [30 [s3
P3 | Q3 |50 |S3
P1 (Q1 |50 {S2
P1 | Q3 |50 |51

cn..hubwma
i

Which of the following functional dependencies
do not hold for the above relation state?

Q- R
(i) PS > T

() PQ » T
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(e) List the various cases where the use of a NULL

value would be appropriate in the relational

model. (3)

(f) Enumerate any three functions of a database

administrator (DBA). (3)

(g) Consider the relational schema R(P, Q,R, S, T, U,
V) and a set of functional dependencies denoted
by FD = {P>Q, QR—ST, PTV—-V}. Determine
the closure of PR (PRY). (3)

(h) Give a one-word answer for the following: (4)

(i) An entity that has a primary key of its

own

(ii) Attributes that combine to form a Primary

key
(iii) Data About Data

(iv) A row in a relational model

P.T.0.
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(i) Consider the following relationg g and g

(4
[ Rpelation R RalatiOn“r\_Hﬂ \
A B B &
D
2 2
1 3 e
4 4
3 l 7 8
9
10 1

Give the result of the following Operations op R

and S:

() R xS

(i) R >4 S on R.B = S.B

(j) Identify and correct the errors in the following

queries, if any : (4)

(i) SELECT COUNT (CustomerID) , Country
FROM Customers

GROUP BY Country

WHERE COUNT(CustomerID) > 3

KALINDI COLLEGE LIBRARY
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(i) SELECT city, COUNT(*)

FROM Orders
WHERE city LIKE ‘D%’

HAVING COUNT(*)>2;

SECTION B

2. (a) Draw the symbol for the following in an ER
4)

Diagram :
(1) Weak Entity type
(i) Relationship type
(iii) Multivalued attribute

(iv) Total Participation Constraint

(b) Consider the relation : (4)

EMPLOYEE (EmpID, Ename, Post, Salary)

P.T.0;
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which constraint is violated while Perform;
ng the

n below on the relatig.o

.rﬂlions give i
Opc GlVe

rcasons for eaCh

) ¢ h Y < ;

(i) INSERT <NULL, ‘Rahul’, ‘Clerk , 20000
into EMPLOYEE.

(i) DELETE the tuple with EmpID = B

(c) Give SQL command to create a relational tap,

with the following information : ™

Consider a table T with attributes Al, A2, A3

and A4 where:

(i) Al is a number (with a maximum of 10

digits) and cannot contain NULL

(i) A2 is a character string (maximum 50

characters in length)
(iii) A3 and A4 are integers

(iv) Al and A2 form the primary key
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(v) The default value of A3 is 6

(vi) A4 is a foreign key referring to attribute

A5 belonging to Table S in the database

3. (a)In each of the following cases, suggest a
cardinality ratio between Entityl and Entity2.

Justify your answer, stating any assumptions that

you make. (4)
Entity1 Cardinality Ratio Entity 2

(1) Employee  ..ccoceevrinnnnenn. Manager

T o o) ¢ T — Movies

(i) CiligE s Countries

Gv) Apthor  smsermmecsns Books

(Without Co-authorship)

(b) Consider the following entity relationship diagram

(ERD): (5)
P.T.Q.
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Map the ERD into relations. Specify the relations

(tables) and the constraints enforced op them.

(c) Describe the three-schema architecture of DBMS
with the help of a diagram. Differentiate between

physical data independence and logical data

independence.

6)

4. (a) Consider the relation Printer (model, color, type;

price): (3)
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(1) Give an instance of relation for Printer.

(i) Specify the datatype for each data element

of Printer.

(b) Consider the Students relation as shown below :

(4)
@dentm student_Name [studentEmail |studentAge [CGPA
2345 Shankar shankar@math X 9.4
1287 Swati swatiQee 19. 9.5
7853 Shankar shankar@cse 19 9.4 |
9876 Swati swati@mech 18 9.3
8765 Ganesh ganesh@civil 19. 8.7

(i) Suppose (studentName, studentAge) is

the composite primary key. Can the value

of X be inserted as 19? Justify your

answer,

(i) Is the key mentioned in part (i) time-

invariant? Give the justification for your

answer.

P.T.Q.
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(¢) Consider the following Company datap, ot
SChema

(8)

EMPLOYEE

Empno [EName 'Address Salary

Write SQL statements to perform the following

operations :

(i) Add a column EmaillD in the EMPLOYEE
table.

(ii) Update the datatype of salary from INT ¢,
DECIMAL. Also, define 10,000 as the

default value.

(iii) Add a check constraint for the Salary

column enforcing salary not above
80000.

(iv) Drop the column Address from EMPLOYEE.

5. (a) Consider the following relation :

STUDENT_COURSE



itf-d— NO Coursai_t_lg SNAME |[PHONE AGEonuruﬂm
1 Cl RAM 9716271721[20 |DBMS
——"'""'_'—_-_-

2 C2 JATIN |9898291281[19 [HTML

3 Cl SUJIT |7898291981/18 [DBMS

4 C3 SUMAN [9899307318[21 [C++

Which of the following operationswould result in
insert/update/delete anomalies? Justify your

answer.

(i) Insert a row with Stud NO = 7 and
CourselD = 'CI'. (3)

(ii) Delete a row with Stud_NO = 2. (2)

(iii) Delete a row with SNAME = ‘RAM’.
(2)

(b) Write the relational algebra expressions to

perform the following operations on the relational

schema : (8)

B.T.0O:



2499 12
EMPLOYERE
Empno

—— P\ddxess IS%

DEPARTMENT

F)num

prane  pianager |

(i) Display names of the employeeg working
in Computer Science department and

having a salary of more than 5000(

(ii) Display the employee numbers ang

names of all employees along with their

department numbers.

(iii) Display the name and the address of male

employees.

(iv) Display the employee numbers and

names of all employees, along with their

department names and manager names.



2499 13

6.
dependencies :

(a) Consider the following relation and the functional

(5)

Price

@ ]Genreﬁ [GenreType

gookID - GenreID, Price
Genra ID - GenreType

(i) Find the primary key in the above relation.

(ii) Apply normalization to convert it into the

Third Normal Form, stating the reason for

decomposition.

(b) Consider the following table : (10)
STUDENT
Rollno| Name DOB Address |Percentage
1 Jugal 10/01/2003 |Mumbai 98
2 Pratigya ([24/03/2002 [Pune 82
3 ‘|Sandeep 12/12/2003 |Delhi 91
4 Sangeeta [01/07/2004 |Bangalore |96
5 Satti 05/09/2002 ‘Mumbai 89 N

P.1 XX
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Wwrite SQL statements to perform the following :

(i) Display the details of studentsg whose

address is ‘Mumbai’.

(i) List the names of all the students whose

percentage is between 90 to 100,

iy Display the name of the youngest

student.

(iv) Display the list of names of all the students

in alphabetical order.

(v) Find the total number of students.

7. (a) Consider the following SQL statement : (5)

CREATE TABLE Flight

(£lightNo CHAR(S6),

seatNo INT CHECK (seatNo >=1 and 3eatNo <=200),
Name varchar(10),

arrivalTime datetime,

Fare Decimal (8,2));
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Which of the following values entered for the

columns holds valid? Justify your answer for each

case.
(i) “14-12-2023 12 : 40 : 32’ for arrivalTime
(ii) 1300000.23 for Fare
(iii) 340 for seatNo
(iv) ‘2023-12-31 23:15: 43’ for arrivalTime

(v) ‘13000’ for Fare

(b) Create an entity relationship diagram for the Book
issue system with the following 10 entities :

(10)

Employee (empno, name, office, age)
Books (ISBN, title, authors, publisherild)
Loan (empno, ISBN, date, amount)

Publisher (publisherId, name, address, phone)

P.T.L,
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16

Note that many books can be issued to an
employee. Also, a book can be issued to many
employees. Identify key attributes for each entity
type. Clearly specify cardinality ratios and
participation constraints. State any assumptions that

you make for drawing an ER diagram,

(1700)
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[This question paper Contains 8 printed pages.]

Your Roll NO..ccccoereeeee
Sr. No. of Question Paper : 3980B G
Unique Paper Code . 12275303

Name of the Paper : Money and Banking

Name of the Course . GE (Hons)
Semester < II
Duration : 3 Hours . - ~ Maximum Marks : 79

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt any 5 questions.

3.. Part of the questions to be attempted together.

4. If question papers has part-A/B//C (write appropriate
direction).

5. All questions carry equal (15) marks.

6. Use of Simple Calculator allowed.

7. Answers may be written either in English or Hindi;
- but the same medium should be used throughout the
paper.

P.T.O.
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v @ fa 4T

1

WW'
6 5 v 8

Ry - ¢/ q /A2 (GRA R ) )

o v @ g (15) T
AR DewA D IR A FFA

=0 W T 1 IR Fon a1 R Rt v s ¥ Afvre, A
T IR & e T B B =feT |

(a) Evaluate the model of Money Creation. What
factors determine the supply of money in an

economy? )

mw%mwwﬁﬁﬁlmmi
AT A FRE o7 B A FuiRe w@ 7

(b) "Money is anything generally accepted” as a

medium of exchange". Examine this in the light of

various functions of money? (6)
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3980B 3
Y A AR g ke w R @ e § W
¥ Waw B W 3 | o @ R WA S FEE
*mqﬂmﬁ?

2. (a) The Principal-Agent problem in equity contracts:
explain why debt contracts are more prevalent in
the financial market than equity contracts. Does

this solve the moral hazard problem? €)

T s ¥ DRow wic e ey &
I R Fea @ gee ¥ R awR ¥ A
e & §1 T R ARE T o e 8 o
37 |

(b) Discuss the causes and consequences of the

financial crisis. (6)
iy g 3 SO IR TRom W = W
3. How do Segmented Market Hypothesis explains the

term structure of interest rate? Explain how the

Preferred - Habitat Hypothesis is a combination of

.3 A
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4,

the rationale for the expectations and segmented

market hypothesis. (15)

aRe TR TRET A N N & A rem DY
3 7 qam & DA TEder-vEaE aREe MR A wRa
TR TR & SR W T qh 2

(a) Several variables can be placed in one or more of
the following bategories: policy instruments,
operating targets, intermediate targets, or final
targets. Which of the following variables can be

placed in which of these categories and why?
(i) Non borrowed reserves
(ii) The interest rate

(iii) Thé money stock. 9)

FE W Feafafag ¥ ¥ T A A0S 0@ ¥ @
S w3 R Iy, TRareH WEd, R wed, Al
Sitw we Preafafers % @ g @ T 9 Ao
¥ @ W e 3 ek
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(i) | I Red
(i) == =
(i) ¥ Fw

(b) Identifying and summarize the trends and turns of

Indian financial sector since 1950-2015.  (6)

1950-2015 & W€ ¥ wRdd faE 7 B w9
AR N eI A I AT R

5. (a) Explain the role of transaction cost in influencing
- financial market. How financial intermediaries

reduce transaction cost? ' 9)

i TR Y ARG R F A SR S
SyE X A A -3 A0 Y B O 87

(b) Explain the lags in monetary policy (6)
AT G A Foww @ T w

. i
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6. (a) In monetary policy, it is not merely the number of
instruments that is important, but the number of

instruments exerting independent effects on the

9)

target variable. Elucidate.

A AR X, T AN R T R et w2,
gfes @8 W W @0 I9E 0 a9 Ty 2 e
W el 31 WE W

(b) What properties should a variable ha;ve to serve

as an intermediatg target of monetary policy. (6)

Aew A B T W R W e S R
v W ¥ B Ay

(a) How have the capital adequacy norms changed in

g

recent years? The cost of Basel III will outweigh

the benefits in India, Explain. _ )]

T F A A (N W Awee B @ W E7

Basel Il it ¥R SRd ¥ o™i ¥ & a6, @
X '
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| :

|

| (b) What are the primary functions of RBI ? How the
Reserve Bank's decisions touch the daily lives of

all Indians and help to maintain the stability in the
€conomy? (6)

RBI % wmftes =t o1 #7 2% Rod 3% @ daat o
WA B WE e wwRe F@ T AR e
* R w0 @ ¥ e @ B

8. Write a short note about any two of the following.

(1.5, 7.5)

(a) Sources of changes in Reserve Money.

(b) Open Market Operation
(c) Banking Reforms

(d) Operating Targeté

el & ¥ Bl @ 3 W ¥ o R Rt B

(%) sl o % TR ® A

R.T.0.
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[This question paper contains 4 printed pages.]

Sr. No. of Question Paper :

Unique Paper Code
Name of the Paper

Name of the Course

qIEIEHHA T AW

Semester / Annual

e / aWEH

Duration : 3 Hours

T ; 3 "ue

Your Roll NO...coocaveeees

4028 G
12325905

Understanding Ambedkar

B.A. (Hons) Political Science
- G.E

- (R0 (aﬂﬂﬁ)mﬁﬁﬁﬁ

I11

Maximum Marks : 75
quiieh : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.

2. Attempt Any Four questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

P.T.0,
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paper.

ordl ® fog FEA
ﬂm_ﬁ%ﬁaﬁﬁwﬁqwﬁmﬁamm —
CRCRICARIC

fredl T e @ IR A |

, el wE @ o EE |

< W T T IR St o R feneit v s A difvre, aifteer
a5 I 1 WA T & B AT |

1. Discuss Ambedkar’s approach to the study of polity
and history.

TR ok fEm & s & Ty seaR & gfiemm
® T B

7 “The caste has ruined the Hindus” In light of this

statement. Explain Ambedkar’s thoughts on the caste.

‘i ¥ R A waie W Rar 27 W wE D FAE |,
W W TR & RFER @l R &)l

3. What are the significant aspects of the Hindu Code
bill?



4028 3
ﬁgﬂsﬁﬁ%ﬂﬁqﬁmw%?

«] am first and last an Indian”. In light of this

statement. Explain Ambedkar’s thoughts on Nation.

g T S R WA §71 56 O B I #
TL W ST & RN @ aren il

What are the constitutional provisions with respect to

social justice?
TR < @ Y | gauiHe W 27

According to Ambedkar, what were the financial and

monetary economic problems in colonial India?

aﬁm%m,ﬁqﬁ%ﬁmwﬁﬁﬁwaﬂ?ﬁﬁﬁ

e e F A7

What are the main reasons behind Ambedkar’s

religious conversion from Hinduism to Buddhism?
ﬁw%ﬁﬁ%%ﬁﬁwﬁm%%ww
w87

P.T.O.
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8. Write short notes on Any Two of the following :

raffag A ¥ el @ W afgre vt forféaw

(a) Ambedkar’s views on the good government

qET W e & fouR

(b) Buddha and Karl Marx

qg IR F A

(c) Ambedkar’s views on rights

VA

f \
FRVER W T I & R “%
~
(d) Caste as division of labourers k‘c
_("““
A B e & w9 F W =
OR)
A
=)
\\j B

(500)
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Your Roll No.....ccooevaees
sr. No. of Question Paper : 5917 G
Unique Paper Code . 62345501
Name of the Paper . IT Fundamentals
Name of the Course . B.A. (P)/B.Com (P)/GE
Semester Y,
Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

e

1. Write your Roll No. on the top immediately on receipt

of this question paper.

2. Attempt all questions from Section-A.
3. Attempt any five questions from Section-B.

4. Attempt all parts of a question together.

SECTION A

1. (a) State the difference between digital and analog

computers. (2)

(b) Explain how cache memory plays an important in
memory management. (3)

P.T.O.
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(c) Write short notes on the following : (4)
(i) Mainframe Computers
(i) Control Unit
(iiiy CPU Registers
(iv) URL

(d) Explain the conceptualization of High-Level data
model. 3)

(¢) Explain source data entry devices giving suitable

examples. (3)

(f) What are the different types of software? Explain
them. (3)

(g) Explain any three objectives of Operating System.

A3)

(h) Define the term ‘instruction’ in a computer

program. Also, Explain its format. (4)
SECTION B

(a) What is instruction cycle? Explain the steps
involved in an instruction cycle. (6)
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(b) Explain the different kinds of ROM available.
(4)

3. (a) Explain the working of electronic mail with the

help of a suitable diagram. (6)

(b) What is wireless networking? Explain its three

categories? 4)

4. (a) Perform the following conversions : (6)
(i) (264),, into octal number system
(ii) (A5SD),, into decimal number system

(b) Briefly explain any two optical input devices.

(4)

5. (a) What is a network topology? Explain different
types of network topologies. (6)

(b) Explain four advantages of database management

system. 4)

6. (a) Explain the input-output process. Give two

examples each of input and output device. (6)

P T.Q:
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(b) Explain the classification of computers with the

help of a diagram. 4)

7. (a) What is data transmission media? Explain any
three media. 6)

(b) Explain the two ways in which storage devices
can be accessed. 4)

8. (a) Define the term ‘Internet’. Explain its architecture.

(6)

(b) What do you understand by ‘Internet Address’?
Explain it briefly with the help of a suitable
example. 4)

(1500)
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Your Roll No....covevuuaes
Sr. No. of Question Paper : 5922 G
Unique Paper Code : 62275504

Name of the Paper

Name of the Course

. Principles of Microeconomics

: CBCS BA/B.Com (Prog.)
Core, GE

Semester -V

Duration : 3 Hours

Maximum Marks : 100

Instructions for Candidates

,?

Write your Roll No. on the top immcdiatély on receipt
of this question paper. |

2. Answer any five questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindji;
but the same medium should be used throughout the
paper.

gl & fog Adw

| @ - @ PR @ ww R g feiRe e W s
FAHHIE folfeg |

2. el dfer Wl & ITR AR |

3wl U & e T8 | _

4. IO WE-TF & IR N a1 B i e s ¥ Afowe, A
il 3TN 1 A T € BT A |

P.T.Q.
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1.

2

What arc the basic problems of an economy? Why do

these problems arise?

R aferaen @ AU We w1 27 A w59
I Bt 87
(a) How does a tax on a good affect the price paid

oy the buyers, the price received by the sellers
and the quantity sold? |

(b) Discuss the following concepts :—
(i) Consumer surplus,
(ii) Producer surplus.
(3r) frlt g W W PR T WA R TE o,
et g0 W B AR SN TE A R e R
-y @ 87
(@) P FEurms # T Hifw
(i) oD & T=d
(i) Icurew @l =
What is the price elasticity of demand? Given the
demand function Qx = 8000 — 1000Px, determine the
elasticity of demand at a single point, where the price

is Rs. 6 and the corresponding quantity is 2000 units.

(Diagram is required)
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wi A o A w27 W weE Qx = 8000 — 1000Px,
Ran T } verer g W win A A @ PR i, T8
£ 26 WU FET & F A 2000 T o (vt
s 7)

4 What is the indifference curve? Explain the main

properties of indifference curve?

SerdivET T w37 e 9% @ qed 0 FR

5. Explain the price effect, income effect and substitution
effect of a price change for a normal commodity using

suitable diagram.
<P Y @ N F@ T OF EWE a6 e A
qﬁaﬁ#mmwmwmuﬁwmmaﬂaﬁ#

Hie |
6. (a) Define Total fixed cost, Total variable cost,
Average cost and Marginal cost.

(b) Total cost and output schedule are as given in the

following table :—

Output | 0 1 5 10 12 15 20 |
Total | 300 |305 |38 |[602 |756 |1005 |1540 |
cost

Find:— Total fixed cost, Total variable cost,

Average cost and Marginal cost.

P.T.O.
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Ts

(3r) R =X - %o BR v, @ oRedt wmr, Aea
10 A £ 1 o O ) S

(7) frenfere o ¥ e ww ok Ieme o @ w

e | 0 1 5 10 [12 [15 [20 |
‘g@  |300 (305 [385 [602 |756 |1005 | 1540
| S

E FINN - & (R A6, & IRaadie anm,
Fed aFE T AT AR |

Explain the law of diminishing returns of a factor.
Illustrate this concept with the help of graph.

| TE WUE @ S TR @ e & wen Sifw 5@

FATERON H ARG H Gl ¥ T Fim)

(a) In the long run equil-ibriuin of a competitive
firm, show with the help of a sketch that
LAC=LMC = AR = MR

(b) Derive the short run supply curve of a firm under
perfectly competitive market.

(37) s @ wewE & e BT R w o sREh
& A AT ¥ LAC=LMC = AR = MR &1
- ;"

(@) T AR SR S v W e O

T B[R I (1000)
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Your Roll No...cooirueeaees
Sr. No. of Question Paper : 5950 G
uUnique Paper Code . 62315515
Name of the Paper . Women in Indian History
Name of the Course . B.A. (PROG.) - GE I
Semester -V
Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

e

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt four questions in all.

3. All questions carry equal marks.

4 Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.

Bl & fog P

1 =@ -1 @ e & oW i v FuiRa w0 s
FgshAen ferfey |

B.T.O.
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2.

A TR FEA & IR AR |
oof 7 B HF T

70 Y- 7 &l SR Fden a1 BR ot vam s ¥ Giftrg, AT
A0 ITR T A Teh B B AR |

Discuss the concept of either Patriarchy or

Gender.

ﬁmm@ﬁaﬁmaﬁﬁaﬁl

Analyse the condition of women in Early Indian

History.

yRE 9RAE M ¥ WResn @ Ry @ fRwew
=0l

Comment on the relationship between gender and

caste in early India.

URIE RG § Wt 3R Wiy & o & gey | o
|
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How did Harem and household shape the polity of

[ndia during seventeenth century?

mﬁm&ﬁ%a‘mﬁw st qRaR 3 WIRA @ T
23 FeR fear?

5. Analyse life journeys of Nur Jahan and Jahanara.

@ﬁaﬂtaﬁmaﬁﬁﬂﬂmﬁmﬁsﬁwﬁ|

steps were taken by reformers in nineteenth

6. What
en 1n

century to improve the condition of wom

India?
wﬁwﬁwﬁaﬁﬁxﬁﬁw%%ﬁmﬁfaﬁﬁ
quRE 3 T F IO

7. Discuss the political participation of women in India

in the twentieth century.

Mmﬁﬁmﬁw@wﬁﬁwﬁrﬁﬁwﬂaﬁﬁ
ﬁaﬂﬂTﬂ-ﬂﬁql

P.T.O.
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: : p in
8. What was the impact of partition riots on wome

India?

Wﬁwﬁwﬁwﬁmﬁ%aﬁmwmq@?

(2000)

KALINDI COLLEGE LIBRARY
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Your Roll No.....ccovveeee.

gr. No. of Question Paper : 5956 G
Unique Paper Code : 62355503
Name of the Paper  + GE- GENERAL Mathematics —

1
Name of the Course . B.A. (Prog)/ B.Com.
Semester Y,
Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.

2. Question 1 is compulsory and attempt any other three
questions from remaining.

3. Use of calculator is not allowed.

1. Write a short note on the life and contributions of any
three of the following mathematicians : (3%5)

(a) Brahmagupta

(b) Mahavira
R.T.O.
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(¢) Varahamihira

(d) Bhaskara-1

2. Attempt any two parts. (2%10)

(a) State Fermat Prime Testing Method. What are
Pseudo-Primes? Check the number 341 is a

pseudo-prime or not.

(b) What is the total number of matches in a round-
robin tennis tournament with thirteen contestants?
Find the number of Combinations in the word

NUMBERS, selecting at a time
(i) 2 letters

(i) 6 letters

(c) Define Magic Squares. Construct a 4x4 Magic

Square.

3. (a) Find the GCD of 102 and 30 using the Euclidean

Algorithm. Using this express -130.% as a continued

fraction. (1x10)
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(b) What are the number of possibilities to make a
Sandwich out of two types of bread Multigrain
and whole Wheat, three types of vegetables Onion,
Capsicum and Tomatoes and two types of cheese
options with cheese and without cheese. Make a

tree diagram. (1x10)

4. (a) Define symmetric and skew symmetric matrices.
Decompose the following matrix as a sum of

symmetric and skew symmetric matrices.

3 -1 4
1 -3 2

(b) Find A? and check whether it is singular or
not. (1x10)

5. Find the Adjoint and hence the inverse of the
matrix : (1x20)

P 1.0
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Show that B satisfies the equation x> — 6x + 17 = 0.

1 =2 3
6. For What values of x the matrix A=| 1 2 1] is
x 2 -3

singular?

Solve the following system of equations using Cramer’s
Rule :

5x -7y +z =11
6x -8y —z=15

3x +2y - 6z=7
(1x20)

(1000)

KALINDI COLLEGE LIBRARY
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Your Roll No....ccoceuene
Sr. No. of Question Paper : 5988 G
Unique Paper Code 62135905
Name of the Paper . Sanskrit Media
Name of the Course . B.A. (Prog.), Sanskrit, GE-2
Semester . ¥V

Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.

2. Unless otherwise required in a question answers should
be written either in Sanskrit or in Hindi or in English,
but the same medium should be used throughout the

paper.

3. All questions are compulsory.

B @ fog fAdm

1 = WE-T9 @ P 8 W R e eiia e W s
AT Ty |

P.L.C,
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2,

3.

FAY AT 7 B W, T IR H I A a1 @ A
I Rt v sy A ARY, AT @ IR 1 e g A

B =fRY
aft v ey e B

Prafifag ¥ ¥ R el 9 @ 9T AN (60)
Answer any Five of the followings :

(@) e | v g He ffaw |
Write a detailed essay on Anchoring.
(@) é@amﬁ%ﬁwﬁﬁgﬁmﬁa&m;

Describe in detail the Sanskrit News Papers.

(1) AR WO ¥ TG @ DY SN R W e
g

How can the internet lie used in Media?
(9) AT W G WETHR T WAL W R |

Clear the mindfulness of Sanskrit Interview on

Doordarshan.



Write an essay on Vaarta Editing.

(=) g@ﬂmﬁmﬁqmﬁﬁaﬁﬁ%ﬁ%m

Identify the cautions to be taken in translation in

Sanskrit News.

(B) Gﬂﬁﬂ%ﬁ?ﬁﬂﬁﬁﬁ%ﬁﬁﬂqqﬂ?ﬁﬂﬁﬁfm
foRee |

Write a detailed Blog on the Role of Sanskrit in
field of Jobs.

(1) ST W e S v R e T i
fof |

Write a detailed Blog on Daily Sanskrit News in

Akashwani.

o, Frfifad ¥ A sl @ w oy e ford (15)
Write short note any Three of the followings:
(%) ameaf-Fgm

(Dubbing)
P70
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(@) H*Fa wwa

(Sanskrit Manjari)

(1) g R ‘Q:i;r\
(Sanskrit Reporting)

('a[) ARTRER r—--
(Sagarika) ®
e’

(%) e | 1<f’

(Pavmani)

(1000)
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